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HOOKE s LAW N

Wi l| Anunloaded spring is hanging suspended from a clamp as shown in the diagram
below. When the object of mass 100g is hung on the spring it extends
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proportionally.
i( fﬂ T -
o - Calculate the weight of the object.
R s =i
= mass in kilogram:
= moss= ¢ kg
8
T A weight in Newton
weight=______N
" Calculate the extension of the spring
L
original length = * - ul
New length = ;
Working: q Calculate the Spring Constant.
Force = N
Extension: ‘ue;-:telr:_siomicm
orking:

= e ocm * cm
New length= ________ cm
L
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(: Spring Constant = unit

g:_...

(—-.. Calculate the length of the spring with a 180g hung on it.
(___ massinkg= ________

(q weight= ___________

‘é:—.-;_ extension = spri'::_:nmm

g;...

( : extension= _________ cm




